[EEN
<
IN

—+ cdot m "1} [pb/GeV?]

1077

[EEY

Ratio to ATLAS

0.5

13000 GeV pp

(]2
c
= pﬁb"” (ATLAS ttbar) E=F
L 1=
 m ATLAS 13
— --f&-- Pythia 6.428 391 <N
—  --%-- Pythia 6.428 393 <3
~®- Pythia 6.428 394 .
— - - Pythia 6.428 395 =k
Z u .=
- —Hx
B $, ]
IR = _
.\i\%‘\\ ©'
AR (D)
N .*\\\ <
— RGN —_ ™
— e —©
— \‘ :.$ — o
- e mle]
[ N, "\\v —
- \.\ \‘.~\\ _ 2
B i
\is .
- RN BE=
N . &)
\.\.\*.,; E
— . —
[ )
— 0
~ o
o
- - O
] | | | | | | ] =
:l T T T T | T |:
— —2
1
: L g // EI}_ ----------------------------- élj :
| ¥ ./‘/' ] 0-5
L., . A R 1
0 500 1000



	Contents
	Page 1


